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V&V Date (YYYY-MM-DD) | 2012.10.24
V&V Edition 1

V&V Disposition and Status | OK

V&V Charge Time 30.165

Comments

Zeroth order piled up. Standard data processing software did not
correctly locate the zeroth order due to pileup. Manual intervention was
used to input the correct sky coordinates (x=4089.86, y=4081.86) into
the *srcla.fits file table. These corrected coordinates were determined
using a software tool developed by CXC called findzero, which is
expected to be released in CIAO as tg_findzo (currently in ISIS as
findzo). The tool calculates the point of intersection of the readout
streak and the meg arm. In this case, the additional option in findzo to
use initial guess coordinates was used. The zeroth order source

position determined by the standard pipeline processing using the tool
tgdetect was not used in this processing. The newly determined zeroth
order coordinates have been placed in the *srcla.fits file, replacing
the coordinates determined by tgdetect. Note that these corrected
coordinates of the zeroth order cannot be reproduced by running tgdetect
on the data.
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